Transfers Report

This report contains the transfers results.

Contest Name Ward 2 - Bonnyrigg

Valid Votes
Positions to be Filled
Quota

6,553 3 1,639

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|-------------------------|------------------------------------|----------------------|
| Dianne ALEXANDER | Scottish National Party (SNP) | 1,203 |
| Ian BAXTER | Scottish Green Party | 701 |
| Colin LAWRIE | Scottish National Party (SNP) | 617 |
| Janet LAY-DOUGLAS | Scottish Conservative and Unionist | 1,415 |
| George MCINTYRE | Independent | 250 |
| Derek MILLIGAN | Scottish Labour Party | 1,901 |
| Louie Lorraine MILLIKEN | Scottish Labour Party | 466 |
| | Total | 6,553 |

Candidate Derek MILLIGAN Elected with 1,901 votes, being in excess of the quota of 1,639

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Derek MILLIGAN

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Dianne ALEXANDER | 51 | 0.13782 | 7.02882 |
| Transfer to Ian BAXTER | 92 | 0.13782 | 12.67944 |
| Transfer to Colin LAWRIE | 46 | 0.13782 | 6.33972 |
| Transfer to Janet LAY-DOUGLAS | 77 | 0.13782 | 10.61214 |
| Transfer to George MCINTYRE | 54 | 0.13782 | 7.44228 |
| Transfer to Derek MILLIGAN | 0 | 0.00000 | 0.00000 |
| Transfer to Louie Lorraine MILLIKEN | 1,448 | 0.13782 | 199.56336 |
| Value of non-transferable ballot papers | | | 18.33424 |
| | Total | | 262.00000 |

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of George MCINTYRE

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Dianne ALEXANDER | 3 | 0.13782 | 0.41346 |
| Transfer to Dianne ALEXANDER | 12 | 1.00000 | 12.00000 |
| Transfer to Ian BAXTER | 49 | 1.00000 | 49.00000 |
| Transfer to Ian BAXTER | 8 | 0.13782 | 1.10256 |
| Transfer to Colin LAWRIE | 2 | 0.13782 | 0.27564 |
| Transfer to Colin LAWRIE | 9 | 1.00000 | 9.00000 |
| Transfer to Janet LAY-DOUGLAS | 89 | 1.00000 | 89.00000 |
| Transfer to Janet LAY-DOUGLAS | 9 | 0.13782 | 1.24038 |
| Transfer to Derek MILLIGAN | 0 | 0.00000 | 0.00000 |
| Transfer to Louie Lorraine MILLIKEN | 16 | 0.13782 | 2.20512 |
| Transfer to Louie Lorraine MILLIKEN | 48 | 1.00000 | 48.00000 |
| Value of non-transferable ballot papers | | | 45.20512 |
| | Total | | 257.44228 |

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Colin LAWRIE

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Dianne ALEXANDER | 18 | 0.13782 | 2.48076 |
| Transfer to Dianne ALEXANDER | 554 | 1.00000 | 554.00000 |
| Transfer to Ian BAXTER | 35 | 1.00000 | 35.00000 |
| Transfer to Ian BAXTER | 8 | 0.13782 | 1.10256 |
| Transfer to Janet LAY-DOUGLAS | 3 | 0.13782 | 0.41346 |
| Transfer to Janet LAY-DOUGLAS | 5 | 1.00000 | 5.00000 |
| Transfer to George MCINTYRE | 0 | 0.00000 | 0.00000 |
| Transfer to Derek MILLIGAN | 0 | 0.00000 | 0.00000 |
| Transfer to Louie Lorraine MILLIKEN | 11 | 1.00000 | 11.00000 |
| Transfer to Louie Lorraine MILLIKEN | 10 | 0.13782 | 1.37820 |
| Value of non-transferable ballot papers | | | 22.24038 |
| | Total | | 632.61536 |

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Dianne ALEXANDER

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Dianne ALEXANDER | 0 | 0.00000 | 0.00000 |
| Transfer to Ian BAXTER | 14 | 0.01084 | 0.15176 |
| Transfer to Ian BAXTER | 892 | 0.07865 | 70.15580 |
| Transfer to Colin LAWRIE | 0 | 0.00000 | 0.00000 |
| Transfer to Janet LAY-DOUGLAS | 43 | 0.07865 | 3.38195 |
| Transfer to Janet LAY-DOUGLAS | 6 | 0.01084 | 0.06504 |
| Transfer to George MCINTYRE | 0 | 0.00000 | 0.00000 |
| Transfer to Derek MILLIGAN | 0 | 0.00000 | 0.00000 |
| Transfer to Louie Lorraine MILLIKEN | 22 | 0.01084 | 0.23848 |
| Transfer to Louie Lorraine MILLIKEN | 165 | 0.07865 | 12.97725 |
| Value of non-transferable ballot papers | | | 52.95276 |
| | Total | | 139.92304 |

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Louie Lorraine MILLIKEN

| Action | Total No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------------|----------------|-------------------|
| Transfer to Dianne ALEXANDER | 0 | 0.00000 | 0.00000 |
| Transfer to Ian BAXTER | 9 | 0.01084 | 0.09756 |
| Transfer to Ian BAXTER | 80 | 0.07865 | 6.29200 |
| Transfer to Ian BAXTER | 293 | 0.13782 | 40.38126 |
| Transfer to Ian BAXTER | 120 | 1.00000 | 120.00000 |
| Transfer to Colin LAWRIE | 0 | 0.00000 | 0.00000 |
| Transfer to Janet LAY-DOUGLAS | 142 | 1.00000 | 142.00000 |
| Transfer to Janet LAY-DOUGLAS | 293 | 0.13782 | 40.38126 |
| Transfer to Janet LAY-DOUGLAS | 13 | 0.07865 | 1.02245 |
| Transfer to George MCINTYRE | 0 | 0.00000 | 0.00000 |
| Transfer to Derek MILLIGAN | 0 | 0.00000 | 0.00000 |
| Value of non-transferable ballot papers | | | 391.18788 |
| | Total | | 741.36241 |